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Candidate must write first his / her Roll No. on the question paper
compulsorily.
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All the questions are compulsory.
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Write the answer to each question in the given answer-book only.
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For questions having more than one part, the answers to those parts are to
be written together in continuity.

U9 U o &< 9 3T BUT=R | foRel TR 1 Jfe / o / Terieny s g w &= s
& 99 i § T A

If there is any error/difference/contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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i)  This question paper contains two Sections - A and B.
i)  Section'A'is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only a set of seven questions of any one portion.
7) @ug 9 T 3R Tceh T3
A 1-8 1
9-14
15-21
22-23

N B

q 24-25
26-27
28-29

30

N B~

24-25

26-27

28-29
30 6

Section Q. Nos. Marks per question
A 1-8 1

9-14

15-21

22-23

B o -

N B

B 24-25
26-27
28-29

30

N B o

OR
24-25
26-27
28-29
30
8) U T 22 (Wug-3H) aen 30 (Wue-a) | Aieh fearehed 2
There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).

N B~
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1)

2)

3)

4)

S)

6)

3
wus - A
SECTION - A
Teh AT W g1 ey —g1i+ e wman o=it s=men s 22 [1]

Why Profit and Loss Appropriation Account is prepared by a Partnership firm?

TSI UEUT HA T AU ek TSR k1 Tt | e um o1 aiferr o= @ 22 [1]

Why a retiring or deceased partner is entitled to a share of goodwill of the firm?

Ao WIHER % FoaTesh Y 37ew il W = fore U 8 39 g1 27 [1]

At what rate of interest is payable on the amount remaining unpaid to the executor
of deceased partner?

YT o STEERTYT TEUT i o OHT THHAN &ifagid @ed & < 30,000 & fawem gg sHe gty
R, af gaes forg g aran =& 31 v 4 Rrar, gon qen gua § aEer 8 R o g
g 3:2:1 1 [1]
Give the journal entry to distribute 'Workmen Compensation Reserve' of ¥ 30,000

at the time of retirement of Pooja, when there is no claim against it. The firm has
three partners Shivani, Pooja & Suman and their profit sharing ratio is 3:2:1.

T o THIYA o THT $ad K0T TG WA 1 9 fohd W | gEaraG fehan Sran 82 [1]

At the time of dissolution of the firm balance of provision for bad debts A/c is
transferred to which A/c?

UL < FHUTYE Sfayfa & wu o i i feafa |, afe afafe & s 2 @ e wm = am
feran st 2 [1]

In the case of issue of debentures as collateral security, if entry is passed, which
account will be debited?
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7) wdmfa. asawa 90,000 H wyfiiad w2, @k Gfawerasy suvtw T 1,00,000 sifwa
Ted & 9% o= Frifta o) wdm fa. 6t graent 9 worom & frtma 6 ofafe fifkm) (1)

Sandeep Ltd. purchased a machinery from Umesh for I 90,000. For the
consideration of it, issued 9% Debentures with a nominal value of % 1,00,000 to
Umesh. Give a journal entry in the books of Sandeep Ltd. for issue of debentures.

8) TS TTEH T THIUA el gl 87 [1]

When dissolution of the Joint Venture is happen?

9) oifie 3 et TTEieR E A oy g 3:2 U ated I SR et B 1/3 T & fore gehw @8 =
ISR ST gy Tanfa d oo e & few 20,000 Tk, R 30,000 weier qen
R 10,000 1 Teieh o] T i gEaehl | STTaveeh St gtafsa fifu) [2]

Anil and Sunil are partners sharing profits & losses in the ratio of 3:2. They Admitted
Mukesh for 1/3" share as a new partner. Mukesh brought X 20,000 in cash, furniture
worth T 30,000 and stock worth ¥ 10,000 for his share of goodwill. Give necessary
journal entries in the books of the firm.

10) wiw 3R TMfere wu2 & e forka A 39 ST A1g8 U Ta9 Hid @ 3T ov—gi i 2:1 &
31quTa ¥ ares o fvea wa E ww 3 R 1,80,000 % wue wiie aen foRrn a iM% 6,000
g | M 7 % 1,00,000 & wug @ie aen @ o 4,000 gewre| 7w F T 2,50,000 &
U A1 Mg ¥ 70,000 % HUR =9 | 7 Rl GEqeh! § HYe W1EE W1 SHIET I WG g 6
[t AT T SHEERI 1 ARl W 2| [2]

Manish and Govind entered in joint venture to purchase and sales of cloth and
decide to distribute profits or loss in 2:1 ratios. Manish purchased cloth % 1,80,000
and paid T 6,000 for Rent & Insurance. Govind purchased cloth ¥ 1,00,000 and
paid % 4,000 for expenses. Manish sold the cloths worth ¥ 2,50,000 and Govind
sold cloths for ¥ 70,000. Prepare Joint Venture Account in the books of Manish
assuming that all transactions are entered by both parties.

SS—30-Accountancy 1269
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11) uuoft i afgai W U901 T gaa BT hl FHA A S arg - [2]

12)

13)

14)

b s e
i) 39 uftene wem 7@ oo mn A

Pass journal entries in the books of consignee for bad debts in respect of
consignment if

i)  He was given Del Credere commission

i) He was not given Del Credere commission

FAGT A TgA & 50 wERea I 2,000 9fd AEEA & AW @ UNUT W AW qen Swor =
% 10,000 gu| T ¥ 10 Aokt = g1 TR TEA 3 A Agtehet W6 & < 5,000 ST HIST H
IH| g A 30 Aigfohed <t §| s g & fomn fores wret w1 gea 7 Sifsu) [2]
Kuldeep sent 50 cycles @ X 2,000 per cycle to Rahul on consignment and paid
% 10,000 for consignment expenses. On the way 10 cycles were stolen. Rahul
took the delivery of remaining cycles and paid freight % 5,000. Rahul sold 30
cycles. Calculate the value of Abnormal loss and unsold stock.

FeaTe s ol AE-a3 @t < 2,500 1 et sare @ fehg sew o1eft e i e areht
23— F@mE aaa < 400, geiew fertan % 300, sutiia st X 400 vd sunteid et X 200 3mE-
= @ 1 | aiom 79 fife) [2]
Income and Expenditure Account of football club reveals a deficit of ¥ 2,500 but
the following adjustments are to be made yet in it: Outstanding salaries % 400;
Prepaid Rent ¥ 300; Accrued Interest X 400 and Unearned subscription X 200.

Find correct result of Income & Expenditure A/c.

FrafeRaa gemmet @ 31 urd 2017 = TuTE o6 & -9 WA § @ Al " 6l

FHEH Afga feamsu 2]
2016

A1l WA Al TR < 4,000

WAl WA GrmEi & T % 1,000

2017

i3] o § we arnht i e 3 5,600

= 31 WA ARt o TR 31,400

a3l © i Tk < 3,600

SS—-30—Accountancy 1269 [Turn Over



6
From the following information, show the expenses of games material with
adjustment in Income & Expenditure Account for the year ending 3 1% March 2017:

2016

Apr. 1 Stock of games material 3 4,000
Apr.1 Outstanding for games material 3 1,000
2017

Mar.31 Amount paid for games material during the year T 5,600
Mar. 31 Outstanding for games material % 1,400
Mar.31  Stock of games material < 3,600

15) viva 3R U39 |SER § 9 i o1 2:1 o U | aied 21 1 318 2016 <t ITeh! Uit shAw:
R 6,00,000a R 4,00,000 | AR T | et W 5%, itk a1 SR wRI R % 3,750
ufet faarst aa 1 grae 21 31 | 2017 it wEra a6 & o, gsht W s iR adq @
TESH FH ¥ Tge, X 30,000 e gl 9 % fore et @ fawem feem gu enw-g
A @ aaTgT| [4]

Gaurav and Mahesh are partners sharing profits in the ratio of 2:1. On 1% April
2016 their capital is respectively < 6,00,000 and T 4,00,000. The partnership deed
provided interest on capital @ 5% p.a. and salary to Mahesh as X 3,750 per
quarter. The net profit before providing interest on capital and salary amounts to
% 30,000 for the year ended 31 March 2017. Prepare Profit & loss Appropriation
A/c and show the distribution of profit for the year.

16) o, 99 9 31N Uk &H H AEER § | 3R | 3181 2016 i wH A SehI91 UguT ohidl 2| 3@ fafer st
IR Uit < shige 9w % 60,000 ol =g Fve fomen e for wd grn em R @@ wfdr 10%
ek ST Tl 31 THM G (el § Fehrelt T | TR 1 KT G SHET Tg 7 §C
fer @ ufererd 31 =t =t &g g 2 [4]

P, Q and R are partners in a firm. On 1% April 2016, R retires from the firm. On that
date the credit balance of his capital A/c stood at ¥ 60,000. It is agreed to pay his
due amount in two equal half yearly installments with interest @ 10% p.a. Prepare
R's loan A/c assuming that the accounts are closed on 31% March every year.

SS-30—-Accountancy 1269



17)

18)

19)

20)

7

3, 9 3R € Uh BH § 9EER 2 31 | 2017 it IR WH Rl GHE S o e fe)
T <kt fafr @t o1, & qen | i gierEt seaw 210,000, % 60,000 @en % 40,000 o | aEet
wmat X 60,000 1 AT 9 Wi At 21 3 el vt 310,000 # femnaen w3 5,000
% THERI i A HE 1 aren el 31 fganforan gt e aen sweht Fsht wwafwet @ waw
% 2,000 Tge g TR s W @ @] X g WTEiERi St S Tt aA1s| 98 9d ge R
HIEHR TR TG g # sro e 7ehe T | 4]
A, B and C are partners in a firm. They decided to dissolve the firm on 31st Mar.,
2017. On the date of dissolution, the capitals of A, B and C are X 10,000, 60,000
and 40,000 respectively. Realisation A/c showed a debit balance of ¥ 60,000. B
took over debtors at ¥ 10,000 and C promised to pay ¥ 5,000 to creditors. A
become insolvent and only % 2,000 could realise from his estate. Prepare Partners
Capital Account as per Garner Vs Murray Rule. The solvent partners will not bring
cash for his share of realisation loss.

AR ot srtefrEm 2013 R el 11 & ST8R o 7ed e ol fGEm g0 U o
& fug =t uEw TRy [4]
Prepare a format of company Balance Sheet with only main headings as per Indian
Companies Act 2013 schedule III.

T HIEE 3TN AEiET # HiE R iR T ? 4]

State any four points of difference between Joint Venture and Partnership.

T1E o STHUHI A IR o fashia it 600 witear @ % 300 ufe A€t @wE W UTva 6
TR A INuT W % 6,000 == TR 3w werrer A R 50,000 i it @ = g w6 fat
foret fershia W foreen ot oM witenm foram| shmesta 3 fee &8t % 49,000 ° S & o foram
femra 3 X 1800 it & ger 3R 500 wifzan @ T 400 vk @t s i1 40 wfean Mem |
< g A ot i 10% S wEE 33 21 foskia B gEaeRt § W TeRTIt SR @t SHTET
AT T g 6 o i) [4]
Mr. Om Prakash of Chennai consigned 600 sarees @ I 300 per saree cost price to
Vikrant of Udaipur. Om Prakash paid X 6,000 as expenses on consignment. Om
Prakash wrote a bill on Vikrant % 50,000 for three months, which is accepted by
him. Om Prakash discounted it from bank for X 49,000. Vikrant paid Octroi
% 1800 and sold 500 sarees @ % 400 per saree. 40 sarees were stolen from
godown. Vikrant is entitled for 10% general commission. Prepare Om Prakash
A/c in the books of Vikrant and also calculate the value of Abnormal loss.

SS—-30-Accountancy 1269 [Turn Over



21)

22)

8
fraw o & 50 Frafa agw § 9w 3 100 #ifees =gt 9d €1 e 3100 wifes wam
fertran grTen 21 o geA FafeRaa @
i) 138 2016w Jmeg W T 2,000 2
i) 5 EEEl a2 U % e W YaE TE R )
iil) Wt 2017 g % WaA R s 2|
iv) % 5,000 =1 wHieR Tehe T
V) 96 ud Rl WA X 10,000 T % 2,000 R
31 \ret 2017 st TETE € < {0 WIH U9 WA @ a4 -9 @l sH1ET [4]
There are 50 regular members of Ritesh club, each pays ¥ 100 monthly towards

subscription. The club pays % 100 as monthly rent for the building. Other
informations are as follows :

i)  Cash balance is on 1%t April 2016 is ¥ 2,000.

i) 5 members have not paid subscription of two months.

iii) The rent of building for March 2017 is outstanding.

iv)  Furniture worth ¥ 5,000 purchased in cash.

v)  Salary and stationery paid ¥ 10,000 and R 2,000 respectively.

Prepare Receipts & Payments Account and Income & Expenditure A/c for the
year ending 315 Mar. 2017.

YT 3R G AR 2 <N foh et ot shAwn: 5:3 3 S1gura @ died €1 31 ured 2017 i wu

! 3R forg 39 TR e [6]
o

e aw () | wufve afw (R)

ISC G 30,000 &g 20,500
A o 4,000 TER - 40,000

gft —Taw-80,000 wIeTE - gar 0 SEe 1,500 [ 38,500

gwi-50,000 1,30,000 ik 56,000

e 8,000

TATE 25,000

-1 e 16,000

1,64,000 1,64,000
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Ty f vrat W Argier ® vown e i

i) o o fawem T 3:3:2 g
i) WISk ®aH T 40,000 TR A 2
iii) o <Rt T W GewieRa 3 24,000 Toren | wew wafa § sruAn T Tehe e 2
iv) g A ash fafem * 6,500 ® @ et
v) @ w gea R 50,000 @ w0 R fEn
vi) wiferer U 1 WEHE R W 5% i R | o fen wm)
YAGHTeR WAl AT |IEERT o Uit @Td S-13U|
YA

A, TS W Tk BH | AEIER g S ol it 5:3:2 | =@ied @1 31 |t 2017 <kt 37 feufa foerm

o e o - 6]

feufa fererm

RG] ufe | wutwEn Tt

wER 11,000 s 9w 8,000

L op] 6,000| =R 8,000

ot = 10,000

31-30,000 ThE 11,000

a-25,000 Yt 30,000

|-15,000 70,000 W= 20,000

87,000 87,000

SS—30-Accountancy 1269 [Turn Over
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1 3tagar 2017 ht 31 geg A Sl 21 31 % Frouraen qen 9w AR # FrafoRea wewf g8:-

i) T o G U™ TR a9 o oIl o STTed o 212 A1 e 2| use or o & ow
9 RN U -

2013-14=13,000; 2014-15=12,000; 2015-16=20,000; 2016-17=15,000
i) wehEE o gedied T 8,000; AR T 28,000 det wer % 25,000 W T 2
i) ad2017-18 % W N TUFT T T F A9 h IR W FE |

iv) Usht = 10 feer anfies 5 & @ )

V) 31 hl 3T SR Rl eht ST SHeh frouTees it kTt 2 & 18 aun 9w 3k (Feuree)
SRUT @A H gEATaid o & 8|

1 3tergaR 2017 At 31 1 YSit Wl a1 31 o fHearees st @t sH1Su|

Ramesh and Suresh are partners sharing profits in the ratio of 5:3. Their Balance
Sheet as on 31 Mar. 2017 was as follows :

Balance Sheet
Liabilities Amount ¥ | Assets Amount T
Creditors 30,000 | Cash 20,500
General Reserve 4,000 | Debtors - 40,000
Capitals:Ramesh-80,000 Less: prov. for
Suresh - 50,000 | 1,30,000 bad debts 1,500 38,500
Stock 56,000
Investments 8,000
Plant 25,000
P& LA/ 16,000
1,64,000 1,64,000

SS-30—-Accountancy 1269



Mahesh is admitted into partnership on the following terms :

11

i)  The new profit sharing ratio will be 3:3:2.

ii)  Mahesh brings % 40,000 as his capital.

iii) The goodwill of the firm is valued at ¥ 24,000. Mahesh brings his share in cash.

iv)  Suresh took over Investments at X 6,500.

v)  Stock is to be reduced upto % 50,000.

vi) Provision for doubtful debts should be @ 5% on debtors.

Prepare Revaluation Account and Partner's capital A/c.

OR

A, B and C were partners in a firm sharing profits in the ratio of 5:3:2. On 31*
March, 2017, their Balance Sheet was as under :

Balance Sheet

Liabilities Amount T | Assets Amount I
Creditors 11,000 | Bank balance 8,000
Reserves 6,000 | Debtors 8,000
Capitals : Stock 10,000
A -30,000 Patents 11,000

B -25,000 Machinery 30,000

C- 15,000 70,000 | Building 20,000

87,000 87,000

SS—30-Accountancy 1269 [Turn Over
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A died on 1% October 2017. It was agreed between his executors and the remaining

partners that :

i)  Goodwill to be valued at 2'2 years purchase of the average profits of the

previous four years which were :
2013-14=13,000;2014-15=12,000; 2015-16=20,000; 2016-17=15,000
ii)  Patents be valued at ¥ 8,000; Machinery T 28,000 and building at X 25,000.

i) Profit for the year 2017-18 is to be calculated on the basis of previous year
profit.

iv) Interest on capital be provided at 10% p.a.

v) Half of the amount due to A to be paid immediately to the executor and the

balance transferred to his (Executor) loan A/c.

Prepare A's Capital A/c and A's Executor's A/c as on 1 October 2017.

23) o e 3 R 10 @t 20,000 wHar 3t siHar st feifea ferr 30,000 siwnt & fote e umw
T O ST A FHHI: e W R 3, A W T 3, wem " W R 2 wen sifew A w % 2
33 @) 28,000 3791 3 ISR Tl JATIT s foha T G I SATegehi ol T et & TE|
TG W ITH ATTerer Y1 skt Su=i sie Uit o S foman e | @it afdr sren s
B T fama v v sttt R 1,400 319t % fote sterea feman o, A sifaw Wi wiyt @
WA e TR

SO <t JEaehl | SiHA St g (ferero forem i sravashdt T8 2) | [6]

SS-30—-Accountancy 1269



24)

25)

26)

13

Nusrat Ltd. issued 20,000 equity shares of % 10 each to public. Applications were
received for 30,000 shares. Amount was payable as follows: On Application X 3,
On Allotment R 3; On first call R 2 and on second & final call X 2. Application of
28,000 shares were made prorata allotment and amount of remaining applicants
were refunded. Excess application money was utilised to adjust allotment. All the
amount was received in time except one share holder Manisha who had applied for
1,400 shares did not pay second & final call.

Give journal entries in the books of company.

(Narrations are not necessary)
wig - d

SECTION - B

WUS T % Y WA g, Tk WAT § 7 U9 2| aienteiat ot foreft ueh Wit & | 99+ Rl & et
2l

Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

3: U e W ST = TR 7 [1]

What do you mean by Inter firm comparison?

2:1 % 6] HIUTE W IUR HIA Sl Sl oI THIE TS ? HIROT Hf Ssu| [1]

What will be the impact of 'Goods sold on credit' on a current Ratio of 2:1? State
with reason.

forfra fargetwur i i3 =R qeRten & A faRau) [2]

Write the names of any four techniques of financial analysis.

SS—30-Accountancy 1269 [Turn Over
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27) ﬁﬁ%ﬁ@ﬁﬁmﬁ%ﬁﬁnmw(ﬁﬁzﬁﬁa@mm)aﬁmaﬁﬁ%
TS AT o 9T A gg ¥ = < 60,000
H R RN =40%
10% ssura=r = X 1,00,000
Fa st = X 12,00,000
a1 \wafEt = 2 3,00,000

=me] gt = R 1,00,000

From the following information, calculate Rate of Return on Investment (Return

on Capital employed).

Net profit after Interest & Tax = 60,000
Tax Rate = 40%

10% Debentures = X 1,00,000

Total Assets = % 12,00,000

Current Assets = % 3,00,000

Current liabilities= % 1,00,000

SS—30-Accountancy 1269
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28) frrifera gamiel @ gorTee ot forarur it gui i (v forg et T | wi@) (4]
Particulars Note | 31®=I2016 | 3192017 | awefaes uitada |aiads Staem
No. 3 (%)
I g franat @ s 30,00,000 | 40,00,000 10,00,000 ?
II. =3
a) T fga o 16,00,000 ? 6,00,000 ?
b) T W@ HUeER = 8,00,000 ? ? 25
¢) ¥ = 2,00,000 ? ? 50
e (am) 11 - 26,00,000 | 35,00,000 9,00,000 34.61
I11. = g e (1-1) 4,00,000 5,00,000 1,00,000 25
IV. less :- & 1,20,000 1,50,000 30,000 ?
V. & agerq @ (111-1V) 2,80,000 3,50,000 70,000 25

Complete the comparative Balance sheet from the following information (fill the
missing values which are shown by Question mark sign) :-

Particulars Note | 31March2016| 31 March 2017 Absolute | Percentage
No. Change X | Change %
[. Revenue from Operations 30,00,000{  40,00,000 10,00,000 ?
II. Expenses
a) Employees benefit
expenses 16,00,000 ? 6,00,000 ?
b) Depreciation and
Amortisation expenses 8,00,000 ? ? 25
¢) Other expenses 2,00,000 ? ? 50
Total of Il 26,00,000{  35,00,000 9,00,000 34.61
II1. Profit Before tax (I-II) 4,00,000(  5,00,000 1,00,000 25
IV. less :- Tax 1,20,000{  1,50,000 30,000 ?
V. Profit after tax (III-1V) 2,80,000{  3,50,000 70,000 25
SS—-30-Accountancy 1269 [Turn Over
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29) UH UIR A@ThR o foru Afdendn s urem A SR STravaes 2 7 aueEed| [4]

Why it is essential for a professional Accountant to follow the ethics? Explain.

30) e & e gere | Fra sl i o R - [6]

vi) TEtHRE U

< "arat = 2 5,00,000

write w=F = % 1,00,000

aifon wrear =3 1,50,000

e ferenatt @ uta amm (fasht) = % 14,00,000
" e = < 4,00,000

T g = 2 2,00,000

RETe e 3| = 26%

uritreR =i g =3 3,00,000
3ifom =mafies W = % 4,00,000
@i i = < 6,00,000

g sl = 215,00,000

YA

e fergetwon srgumat it sereon afga wwemg ? [6]

SS—30-Accountancy 1269
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From the following informations, Calculate the following Ratios :-

i)  Current Ratio

i)  Acid Test Ratio

iii) Inventory Turnover Ratio

iv) Operating Ratio

v) Trade Receivable Turnover Ratio
vi) Proprietory Ratio

Current Assets = X 5,00,000

Opening Inventory = X 1,00,000
Closing Inventory = % 1,50,000
Revenue from operations (sales) = % 14,00,000
Gross profit = T 4,00,000

Current liabilities= % 2,00,000
Operating profit Ratio =26%

Opening Trade Receivable =% 3,00,000
Closing Trade Receivable = % 4,00,000
Shareholder's fund = X 6,00,000

Total Assets = % 15,00,000

OR

Explain Investment Analysis Ratios with examples?

31U/ OR

SS—-30-Accountancy 1269 [Turn Over
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Qe - d

SECTION - B

24) TATAN FHEHER B ST FA TH § ? [1]

What do you mean by Analog Computer?

25) U TEY HigH oI gt 8 ? [1]
What is Entity Relationship Model?

26) UH. UH. T TEYtE & his gt "t aarsu| [2]

Give any two importances of MS Excel spreadsheet.

27) Tkl | gH U 3R HictH I TR fFE THR Te1 U =T ehd @ ? 2]

How can we resizing Rows and Columns in worksheet?

28) e T fiken & wwEl it s SR [4]

Explain the functions of Database management system.

29) # I U U6 FHFdhd oI TUTedt # 7R T hifn| (H1E 9R) [4]

State the point of differences between Manual Accounting system and Computerized
Accounting system. (Any four)

SS-30—-Accountancy 1269
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30) = TheRTE HI ITTE0T T TS | [6]

i) PMT
ii) PPMT
ii) IPMT
JAYAT
TH. T, T Sieviie i fomiemnait s awemed [6]
Explain the following functions with suitable examples.
i) PMT
i) PPMT

iil) IPMT

OR

Explain the features of MS Excel spreadsheet.

POO®
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